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Yoc=L*w - nc=100,
L* CiELaBua =37 (YY) Y513 (Y,=18, Y,/ 1002Y<=Y, o)
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log (AY/Y) CIELABU4
_ tristimulus value sensitivity
SOV Yoc=L*w - nc=100,
L* CiELaBua =37 (YY) M5+13  (Y,=18, Y,/ 1002Y<=Y, o)
log(dY/Y)= log[1,5(Y,/36)] - (1/1,5) log{/Y,,)
= (1/1,5) log[1,5¢,/36)] - (1/1,5) log{)
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Y=L w nc=100,

L* CiELaBua =37 (YY) M5+13  (Y,=18, Y,/ 100<Y<=Y, o)
log(Y/dY)= — log[1,5(/,/36)] + (1/1,5) log{/Y,)

== (1/1,5) log[1,5(,/36)] + (1/1,5);091/)
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L¥/L* CIELABU4 relative standard lightness L*/L*
LHIL* YocmL*w - nc=100,

L* cieLaua =37 (YY) Y313 (Y,=18, Y,/100Y<=Y0)
L*(3,6)=26,L* ,(18)=50,L*y(90)=121
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CIELABUA4 relative

tristimulus value difference

Yoe=L*w ~ ne=100,

L* CiELaBua =37 (YY) Y1513 (Y,=18, Y,/ 100Y<=Y)
log(dY/dY,) = [1-(1/1,5)] log¥//Y,,)
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* =50, dY,=4,05 dY,/Y,=0,2253 _ -
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log[(dY)(dY),]=0, m=0,32 ~ -
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log [(AY/Y) I (AYIY)] CIELABU4 relative

_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
L* CieLaBua =37 (YY) Y1513 (Y,=18, Y,/ 100Y<=Y,)
log[(dY/YV)/(dY/Y),] = (1/1,5) log¥/Y,,)
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log[(dY/YY(dY/Y),]=0, m;=-0,66 1 ~ -
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log [(Y/AY) I (YIAY),] CIELABU4 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

nc~
L* CieLaBua =37 (YY) Y513 (Y,=18, Y,/ 100Y<=Y)
logI(Y/dY)/(Y/dY),] = (1/1,5) loglY/Y,)

1 application
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1y =18
Yw=90
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